TODDLER FATALLY KILLS MOM AT WALMART
Journalist : The first call came in around 10.30 am. Shots fired inside the store. Customers and staff were immediately evacuated and as soon as Kootenai County Sheriff Deputies arrived, they realised a two-year-old was the one who pulled the trigger, killing his mom almost immediately.
Sherif : (He) accessed a concealed weapon that was inside the victim’s purse and discharged it, striking the victim and she’s deceased on scene.
Journalist : The victim was 29-year-old Veronica Rutledge out of Blackfoot, Idaho. She and her husband were visiting family in Hayden for the holidays. Authorities tell me she was shopping in  the electronics department with her young son and 3 other children who were members of her extended family. I’m told  all of the children were under the age of eleven and they all witnessed the shooting.
Sherif : When you have small children, young people, holiday season,  that kind of stuff, it is not  a pleasant experience right now.
Journalist : Several customers and the employees also witnessed the shooting.  Detectives have interviewed all of them, and then all staff members were sent home.
Sherif : Obviously, to, you know, the employees of the store, it’s not something you can see and be part of and then go right back to work.
Journalist : I did confirm that the woman had a concealed weapon out of Spokane but authority say it’s clear the gun was not as secure as it should have been.
Sherif : I’m a big proponent of a concealed weapon for your own safety. However, you have to be responsible.
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	Pas de compréhension du document ni identification du thème
	Relevé de mots isolés/ amorce de compréhension
et de mise en relation des idées les plus simples
	Relevé d'infos incomplet/ compréhension lacunaire/
partielle
	Le candidat a compris et mis en relation
	Le candidat a compris les éléments en B1 ET arrive à donner des détails et à rendre compte du point de vue implicite.

	

	
Reportage (radio ou tv)
2 interlocuteurs : 1  
   femme+ 1 homme rapportant un fait divers :
un enfant a tué sa mère avec une arme à feu au supermarché


	
   TOUS les éléments de A1+
[bookmark: _GoBack]-     enfant de deux ans
· femme journaliste qui couvre le fait divers, interventions d’un homme (police ou sherif) qui commente
· meurtre commis avec une arme qui se trouvait dans le sac de la victime
· victime âgée de 29 ans était en vacances.
-     faisait des courses au                                                            Walmart avec d’autres membres de sa famille.

	 
Tous les éléments de A2 +
· à 10h 30
· Morte pratiquement sur le coup.
· Electronic Dpt
· 3 autres enfants membres de sa famille de moins de 11 ans ont été témoins.
· Avait a ‘concealed weapon’= permis d’arme cachée mais l’arme n’était pas sécurisée.
· Clients et vendeurs témoins ont été entendus et sont rentrés chez eux.
	
Tous les éléments de B1 +

· victime Veronica Rutledge de Blackfoot Idaho.
· Selon le shérif , être témoin de cela peut être difficile.
· Sherif est partisan du permis de porter une arme à feu pour sa sécurité.
· Mais il faut agir de façon responsable.
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